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Que what is the typical period of revolution

of polar orbiting earth satellite , orbiting

at a height of
around 700 km from

the meth 's surface ?
.

A} Mean radius of Earth
= 6371 Km

so
,

Radius of saltelite orbit,
I

= 6371km +700km

= 7071 km

The distance
covered by salted

'

le in

one revolution of its
orbit

= 2A x radius of
orbit co)

The orbital velocity of
saltdite

for M =
mass of

Earth =
6×1024 kg

✓orbiter = 7500mA

Time -period of revolution of
satellite

= 2n-xradiusqoobit-gg.at minutes
7500m/s
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Que - Two planets ARB
orbit around Sun

,

B Being
four times Farther away

then

A from their
sum . Then length of year

or B compared to that of A ,
would be

⑨ same

⑥ twice
② four time

⑨ eight time
solution

The length of the year
on a planet is

time taken by planet
to complete on

revolution in its
orbit around

it sun
.

So length of the year
of a planet

is

given by its orbital peoiod .

Let the distance of planet A from

the sun be a
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as semi - Magor axis of the

Elliptical orbit of planet
A

-

'

- Distance of planet B from
som = ya

let Tp g Tb = orbital periods of planets

A 4 is respectively

from Kepler 's 3rd law of planetary

motions

-

2 2

÷¥→¥i 's
TB -- 8th

so 4th option is correctEart
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